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SYMMETRY

Mathematical Reasoning

1. How many minimum number of squares that

must be shaded to make the given figure


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
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symmetric?

Al

B.2

C.3


https://dl.doubtnut.com/l/_SC1060Kx0UqR

D.4

Answer: B

o Watch Video Solution

2. ABCD is a kite in which AB=AD and BC= DC.

The kite is symmetrical about


https://dl.doubtnut.com/l/_SC1060Kx0UqR
https://dl.doubtnut.com/l/_3fgLgwBfwLUE

A. Diagonal AC

B. Diagonal BD

C.Side AB

D. Side BC


https://dl.doubtnut.com/l/_3fgLgwBfwLUE

Answer: A

o Watch Video Solution

3. Which of the following has as many lines of

symmetry as the number of sides?

A. Square

B. Rectangle

C. Scalene triangle

D. Kite


https://dl.doubtnut.com/l/_3fgLgwBfwLUE
https://dl.doubtnut.com/l/_M0ii4i5Zjof2

Answer: A

o Watch Video Solution

4. Select the correct option.

Shapes Line(s) of symmetry

(A) * 1
@ 7 .
o) s
(D) O Infinite

o Watch Video Solution



https://dl.doubtnut.com/l/_M0ii4i5Zjof2
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https://dl.doubtnut.com/l/_Zw77Zlq4MHgj

5. An isosceles triangle has line (s) of

symmetry.

A.O

B.1

C.2

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Zw77Zlq4MHgj

6. Idetify the corresponding half of the given

figure, if dotted line is the line of symmetry.
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o Watch Video Solution



https://dl.doubtnut.com/l/_BvSGELocwo4k

7. How many of the following letters have no

line of symmetry?

FINGERS

A3

B.4

C.5

D.6

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8jZPzhj6KHXE

8. Which of the following figures have at least

one line of symmetry?

@A
K X TAN |
oo o

W X Y Z

A. Only X

B.Only W and Z

C.OnlyW, Y and Z

D.WX,Y and Z

Answer: C


https://dl.doubtnut.com/l/_aCmk3ZSRVixc

° Watch Video Solution

9. Arhombus is symmetrical about

A.The line joining the midpoints of its

opposite sides

B. Each of its diagonals

C. Perpendicular bisector of each of is sides

D. None of these

Answer: B

| e |


https://dl.doubtnut.com/l/_aCmk3ZSRVixc
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& Wwatch Video Solution ]

10. Which of the following is not a symmetrical

figure?
A
B. :
-



https://dl.doubtnut.com/l/_z7OJsiN7vVQ5
https://dl.doubtnut.com/l/_MYTXpVpVub8A

Answer: C

° Watch Video Solution

11. Which of the following square(s) must be

shaded so that the given figure is symmetric


https://dl.doubtnut.com/l/_MYTXpVpVub8A
https://dl.doubtnut.com/l/_DgmRE2bfSPdC

along both LM and AB?

A

A.Rand S

B.Ponly

C.QandP

D.Q only


https://dl.doubtnut.com/l/_DgmRE2bfSPdC

Answer: C

o Watch Video Solution

12. Which of the following figures has more

than one line of symmetry?
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Answer: D

o Watch Video Solution

13. What is the smallest number of squares

that must be added so that the line AB


https://dl.doubtnut.com/l/_B7jzdIvzPT9y
https://dl.doubtnut.com/l/_1LwjnpvDUN6O

becomes the line of symmetry?

A

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_1LwjnpvDUN6O

Answer: C

o Watch Video Solution

14. How many lines of symmetry are there in a

triangle which has all the angles equal ?

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_1LwjnpvDUN6O
https://dl.doubtnut.com/l/_JHzH3S7V9ks2

Answer: C

o Watch Video Solution

15. Which squares must be shaded so that the

figure has a line of symmetry?


https://dl.doubtnut.com/l/_JHzH3S7V9ks2
https://dl.doubtnut.com/l/_uPjkp2mTzkJB



https://dl.doubtnut.com/l/_uPjkp2mTzkJB

Answer: D

o Watch Video Solution
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